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Choose the correct answer from the following.

1. Which of the following hormone h:

a iﬁﬁ:‘l‘m}”ﬁ(ﬁ‘n i ! -l?ﬂh‘"&"iﬂ‘\: ISa ‘1‘|\:'.:0v(5| hormone
~a. Human placental lactogen D, | ;
2 i"B' :k{su)(ﬂﬂafi‘:la e- Y onadotrophnin

' e j‘t:.:;{iﬁi@-i}?j_i\bii',_;)"'l'ﬁn_’ita}(:}mﬂ.‘ related with formatior
“embryo.

sur!

C"\)

<

Ar
An

f!;":‘i_.ij."u!;vnr O] ‘\*i(u“!ii:-‘\u:(s ntluence
yplasm influences nuclear b, lonla:
;,I”I)ii_iil_r(-.ﬁlulm
(e AL \f-\i‘u}:o“'i:vsg‘ inhibits som

activites

For GIIF1 to be suitable woman must have

The oocyte i1s enclosed by
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The function of the Peg cell in the Fallopian tube is:

a. To secrete estrogen b. To provide nutrition to ovum
¢. To generate ovulation d. None of the above
11. After ovulation, the empty follicle inside the ovary changes to a structure called:
a. Progesterone b. Human chorionic gonadotropin
¢. Human chorionic somato- d. Relaxin
mammotrophin
12. Which one of the following is the innermost layer of uterus?
a. Perimelrium b. Myometrium
c. Endometrium d. None of the above

13. Which of the following hormone is secreted in response to baby’s suckling reflex?
a. Progeslerone b. Estrogen
c. Adrenal steroid d. Prolactin

14. Find out the wrong maternal gene for pattern formation in Drosophila during

development.
a. Bicoid gene b. Pair rule gene
¢. Nanos gene d. Caudal gene

15. Which one is not a morphogen?
a. RanBP b. Sonic Hedgehog
c. fcatenin d. Transforming growth factor-beta

16. Fertilizin is a chemical substance produced from:
a. Malure eggs b. Acrosome
c. Polar bodies d. Middle piece of sperm

17. In rare cases fertility drugs may cause ovarian hiypeistimulation syndrome (OHSS).
This builds up fluid in:
a. Abdomen and chest b. Kidney
c. Heart d. Liver

18. The origin of progesterone biosynthesis:

a. Graffian follicle b. Corpus luteum
¢. Fallopian tubes d. Peg cells
19. Ovulation in mammals refers to:
a. Release of ovum from ovary b. Formation of primary oocyte in ovary
¢. Degeneration of unfertilized ovum d. Tertilization of mature ovum
20. The compound pregnenolone is the source of:
a. Cholesterol b. Acetyl Co A
c. Mevalonate d. All sex steroids
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[ Answer question no,1 & any four (4) from the rest ]
1. In the light of the modern concept discuss the process of In vitro 10
Fertilization (IVF).
2. Discuss the process of fertilization with special emphasis on fertilizin- 10
antifertilizin reactions in humans.
Or
Discuss the salient features of Intra Cytoplasmic Sperm Injection (ICSI). 10
3. What is placenta? Write a note on hormones secreted by placenta. 2+8=10
4. Mention the four stages of lactation process. Discuss the role of 2+8=10
oxvtocin and prolactin on lactation.
5. Write the structure of a Cadherin molecule. Mention different types of 3+42+5=10
Cadherins. Explain mechanism of action of cadherin molecules with
suilable diagram.
6. Ixplain the mechanism of vulva formation in Cacnorhabdiltis elegans. 10
7. What do you mean by ovarian cycle? Write about various stages of 2+8=10

menstrual cycle in primate.

What is meant by steroids? What is the source of pregnenolone 2+8=10
molecule? Give the mechanism of steroid biosynthesis from the
Pregnenolone molecule.

Or
Define gametes. Write briefly on the transport of ovum to the uterine 10
bed ot a mammal.
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